SMATTI Mohamed Laabed high school / Ouled-Djellal.

Third Term Exam of English 2010 / 2011     Level / 1st year Exp.sc 
PART ONE: Reading and interpreting.                                       (15 pts)
· Reading: Read the text carefully then do the activities.      (7 pts)
Human activities have a tremendous impact on forests. Since agriculture began 11,000 years ago, large forest areas have been cleared for farms and cities. Beginning in the 1800’s, great expanses of forest have also been eliminated because of industrial needs .The destruction and degrading of forests is called deforestation.
Severe deforestation now occurs around the world, even in the most remote rain forests. Until the late 1940’s, rain forest covered about 8, 7 million square miles (22,5 million square kilometres) of the earth’s land .Today, they cover less than half that area. Millions of acres hectares of rain forests are destroyed each year. Since 1800, huge areas of temperate forests have also been cleared. Many parts of eastern North America, for example, have less than two percent of even degraded forests remaining.

Industrial pollution is a chief cause of deforestation. Factories often release poisonous gases into the air and dangerous wastes into the lakes and rivers. Air pollutants may combine with rain or other precipitations and fall to earth as acid rain and polluted water can restrict plant growth or even kill most plants in a forest.

I. Answer the following questions according to the text.

a) Why did people clear forests?

b) What is deforestation?

c) How can industrial pollution cause deforestation?

II. Are the following statements true or false according to the text?

a) Human activities have negative effects on forests.

b) Agriculture is one cause of deforestation.

c) Deforestation occurs in rain forests only.

d) Acid rain helps plants to grow.

III. What or who do the underlined words in the text refer to?

a) Deforestation (§1)             b) That area (§2

IV. Choose the correct answer a, b or c: The text is about.

a) Air pollution

b) Industrial pollution

c) Deforestation

V. Find in the text words that are synonymous to the following.

a) Effects (§1)

b) Clearing forests (§2)

· TEXT EXPLORATION                                                                           (8 pts)
I. Use the appropriate prefix to build opposites.

Dis – ir –in –im – il – un

Responsible – possible – drinkable – agree – logical

II. Combine these pairs of sentences using the connectors in brackets.

a) Cars are useful. They may cause pollution. (though)

b) CFCs destroy the ozone layer. People suffer from skin cancer.(consequently)

c) The cell phone is useful. Nearly everybody has one.(so….that)

III. Give the correct form of the verb in brackets.

a) If metal (to get) hot, it expands.

b) If it didn’t rain, plants ( to die)

c) Air (to be) clear if we stop traffic pollution.

IV. Fill in the gaps each time with one word only from the list below.

                buses – major – other – air

Air pollution is a dirtying of the…1…caused by toxic chemicals or …2….materials. It can injure health, the enjoyment of life, or the working of ecosystem. The…3…... sources of air pollution are cars, trucks and…4…, waste incinerators, factories, and some electric power plants, especially those that burn fossil fuels, such as coal.
· WRITTEN EXPRESSION.                                                                 (5 pts)
   Write a composition of about 80 words on the following topic.
TOPIC:
  Pollution is a problem threatening the world today.What are its causes and effects on man and the environment?

Good Luck
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